6_Segn0 Technical specifications

. Extruded aluminium telescopic jamb

2. Aluminum door frame profile
4. Glass on two sides, 0,5 cm thick.

Wood/lacquered panel 3,8 cm thick.
Glass panel weight cm 27 kg/m?.
Wood panel weight 14 kg/mZ.

4. Handle
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The Segno door price includes the lock.
The jamb is telescopic and extendable for wall thicknesses from 10,5 cm to 13,5 cm.
For greater wall thickness, see specifications (see page 185). Handle not included.

If in combination with pocket doors, check with our technical office the possibility of aligning the horizontal bands of the two different systems in height.

Maximum height and
width dimensions

Available finishes

12,5/82,5/92,5 cm

Panel profiles

AL31 Anodized Aluminium
AL32 Polished chrome
AL34 Satin steel

LCO1 Lacquer Bianco
LCO2 Lacquer Nero
LC12 Lacquer Panna
LC14 Lacquer Caffe
LC15 Lacquer Lino
LC16 Lacquer Tortora
RAL Lacquered

Polished double-sided glasses
SR30 Bianco

SR31 Lino

SR32 Ardesia

SR44 Nero

SR50 Tortora

SR51 Castagna

RAL Colours

Wood panel / Lacquered
LE27 Bleached oak
LE28 Wenge-stained oak
LE29 Teak

LE31 Smoked Chestnut
LE32 Black Walnut
LE33 European Walnut
LE34 Grey stained oak
LCO1 Lacquer Bianco
LCO2 Lacquer Nero
LC12 Lacquer Panna
LC14 Lacquer Caffe
LC15 Lacquer Lino
LC16 Lacquer Tortora
RAL Lacquered

Mirror

SPO1 Clear mirror
SP21 Fume mirror
SP22 Bronzo mirror

1 wood side (LE, LC), 1 glass side
1 wood side (LE, LC), 1 mirror side
1 glass side, 1 mirror side
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6_Segn0 Dimensions

H210cm H 240 cm H 270 cm

219,2
214/ 216 unfinished door space
Door H210 cm
209,8
218,1
249,2
244/ 246 unfinished door space
Door H 240 cm
239,8
2481
219,2
274/ 276 unfinished door space
Door H270 cm
269,8
2181

W 72,5 cm

| 81,3 |

| min 78 - max 82 unfinished door space |

ﬂ, 70,7 clear passage

Door 72,5 cm \ .
| 89,5 |

W 82,5cm

| 973 |

| min 88 - max 92 unfinished door space |

80,7 clear passage

Door 82,5 cm \ .
99,5

W925cm
| 107,3 |

| min 98 - max 102 unfinished door space |

[ |

L 90,7 clear passage

Door 92,5 cm H
109,5
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